Sec IL4 Review g
@ “Test

Memeori z& —he statement Q-F “FHee_ L it CM’TQF;sa-{]

(’?of When Limm A0 s a ?OSH‘,ve_ Y\M‘N\\O-e_f)

nSoo bn

® ? b, te —Heat

Fo(- Av\ - 5,\_9_) ,—F?(\A a ge-bue_n('_e_

dim _a/"— is a ]>o&7+?ve, @n]'ﬁ‘e} number

n—> a2 b.

[VYa)
“+he  Limit CoManWSon Tewk + zdn_

n=|



Sec [L4 Review 79 2

n

@ Use +he Limit Cowiparison lest o Foor S
par %Jn?—é

—%bf‘ Caﬂve(ﬂenc,e/ol': Ver;je,n% .



Sec LA Review g3

4 2
. - . . - ~an =243
@ Using the , determine if the series E " - " converges.
= 2n"—n+5

@ 15 Z__"—*—‘— Cor\\ler‘ae,n“l‘ or o{r\/e,rﬂent_?



Sec L4 Review P94

for convergence or divergence.
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6 Suppose that Z cpz” converges when z = —3 and diverges when x = 4.

n=0
Determine whether the following series converge or diverge.
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@ Find a power series representation for f(z) = H% and find its interval

x
of convergence.

224
2—3x

and find its interval of
convergence.

@ Find a power series representation for f(z) =
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@ Find a power series representation (centered at 0) for f(z) = Grae
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@ Find / In(1+t*) dt as a power series, and find its radius of convergence.
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@ Use the fable & write a To.,oe,r Leries re_rre.:ex\hkan ‘,,0

fnrc{ran[x'—) ol center,) at *=o.
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